Teachers:

Each of the following problems is solved incorrectly.

Students are expected to identify the mistake, correct the mistake and then share a hint or strategy for avoiding the mistake in the future.
Problem 1: Mr. Kouvatsos – Computation Error- Common error when dealing with mixed numbers and improper fractions

In the incorrect solution, the numbers were added accurately but since it ended up as a whole number with an improper fraction the person converted the improper to a mixed number and then forgot about the whole number that was already there.

Problem 2: Mr. Kouvatsos – incorrect operation selected

The area was calculated instead of the perimeter.

Problem 3: Ms. Colangelo – Computation Error - did not borrow 
Needed to borrow because the larger number had the smaller fraction attached to it

Problem 4: Ms. Colangelo – Computation Error - did not borrow – different fractions from problem 3

Needed to borrow because the larger number had the smaller fraction attached to it

Problem 5: Ishmael – Computation error – did not change the numerator when finding the common denominator

Problem 6: Mr. Kelly – Computation Error- Common error when dealing with mixed numbers and improper fractions 

Problem 7: Max – Incorrect operation

Problem 8: Saraf – computation error – did not make the mixed number an improper fraction in order to multiply

Name:_______________________________________________________________________________________




Class:___________________

WHAT THE … ?!!?

	Mr. Kouvatsos is building a fence around his garden.  The garden is 3 5/6 ft. long and 4 1/2 ft. wide.  How many total feet of fencing will Mr. Kouvatsos need?

	Incorrect Work / Solution
	Identify and Explain the Error

	3 5/6 + 4 1/2 + 3 5/6 + 4 1/2 =

LCD: 

6: 6, 12

2: 2, 4, 6

3 5/6 already has the LCD, 4 1/2 x 3 = 3/6 = 4 3/6

3 5/6 + 4 3/6 + 3 5/6 + 4 3/6 = 14 16/6

16/6 = 2 4/6
2 4/6 = 2 2/3

2 2/3 ft. of fence
	

	Correct work & Solution
	How to avoid this in the future…

	
	


Name:_______________________________________________________________________________________




Class:___________________

WHAT THE … ?!!?

	Mr. Kouvatsos is building a fence around his garden.  The garden is 3 5/6 ft. long and 4 1/2 ft. wide.  How many total feet of fencing will Mr. Kouvatsos need?

	Incorrect Work / Solution
	Identify and Explain the Error

	3 5/6 x 4 1/2 =

3 5/6 = 23/6, 4 1/2 = 9/2
23/6 x 9/2 = 207/12

17 3/12 = 17 1/4
17 1/4 ft. of fence
	

	Correct work & Solution
	How to avoid this in the future…

	
	


Name:_______________________________________________________________________________________




Class:___________________
WHAT THE … ?!!?

	Ms. Colangelo is going to make granola bars.  She has 2 1/3 pounds of dry cereal.  The recipe calls for 1 5/6 pounds of dry cereal.  How much dry cereal will she have left after making the granola bars?

	Incorrect Work / Solution
	Identify and Explain the Error

	2 1/3 - 1 5/6 = 7/3 - 11/6
3: 3, 6, 9

6: 6, 12

LCD = 6

7/3 x 2 = 7/6, 11/6 already has LCD

7/6 - 11/6 = 4/6

4/6 = 2/3

Answer: 2/3 lbs. left over
	

	Correct work & Solution
	How to avoid this in the future…

	
	


Name:_______________________________________________________________________________________




Class:___________________

WHAT THE … ?!!?

	Ms. Colangelo is going to make granola bars.  She has 2 1/3 pounds of dry cereal.  The recipe calls for 1 5/6 pounds of dry cereal.  How much dry cereal will she have left after making the granola bars?

	Incorrect Work / Solution
	Identify and Explain the Error

	2 1/3 - 1 5/6 = 

3: 3, 6, 9

6: 6, 12

LCD = 6

2 1/3 x 2/2  = 2 2/6, 1 5/6 already has LCD

2 2/6 - 1 5/6 = 13/6
13/6= 11/2

Answer: 11/2 lbs. left over
	

	Correct work & Solution
	How to avoid this in the future…

	
	


Name:_______________________________________________________________________________________




Class:___________________
WHAT THE … ?!!?

	Ishmael is creating a video.  The first video clip is 1/2 of an hour long.  The second video clip was 1/5 of an hour long.  What is the total length of the video?

	Incorrect Work / Solution
	Identify and Explain the Error

	1/2 + 1/5 
LCD:

2: 2, 4, 6, 8, 10

5: 5, 10

LCD = 10

1/2 x 5 = 1/10, 1/5 x 2 = 1/10

1/10 + 1/10 = 2/10
2/10 = 1/5
1/5 of an hour long
	

	Correct work & Solution
	How to avoid this in the future…

	
	


Name:_______________________________________________________________________________________




Class:___________________
WHAT THE … ?!!?

	Mr. Kelly drove for 2 1/4 hours before he had to stop and get gas.  After getting gas, he drove for another 2 5/6 hours.  All together, how long did Mr. Kelly drive for?

	Incorrect Work / Solution
	Identify and Explain the Error

	2 1/4 + 2 5/6 =
LCD:

4: 4, 8, 12

6: 6, 12

2 1/4 x 3/3 = 2 3/12, 2 5/6 x 2/2 = 2 10/12

2 3/12 + 2 10/12 = 4 13/12

13/12 = = 1 1/12

11/12 hours all together
	

	Correct work & Solution
	How to avoid this in the future…

	
	


Name:_______________________________________________________________________________________




Class:___________________
WHAT THE … ?!!?

	Max has 3/4 lbs. of candy.  He gives 1/3 of his candy to his brother.  How many pounds of candy did he give away to his brother?

	Incorrect Work / Solution
	Identify and Explain the Error

	3/4 - 1/3

LCD:

3: 3, 6, 9, 12
4: 4, 8, 12
LCD = 12
3/4 x 3 = 9/12, 1/3 x 4 = 1/12
9/12 + 1/12 = 10/12
10/12 = 5/6
5/6 lbs. of candy
	

	Correct work & Solution
	How to avoid this in the future…

	
	


Name:_______________________________________________________________________________________




Class:___________________
WHAT THE … ?!!?

	Selena ran 11/2 miles after school.  Saraf ran 3/4  as many miles as Selena.  How many miles did Saraf run?

	Incorrect Work / Solution
	Identify and Explain the Error

	11/2  x 3/4
11/2  x 3/4 = 13/8

Saraf ran 13/8 miles
	

	Correct work & Solution
	How to avoid this in the future…
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